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Allowance Dilemma #2
For your allowance each week, you have 2 choices:

	A)  Take $15
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	            or


	

	B)  Draw 2 bills, one at a time, replacing it each time, from a bag with three ones and two twenties.


	


What is your initial choice?  (Circle one.)   A    or   B

1. Complete the area model below.  Determine the sample space, S, and the probability of each possible outcome.  


Sample Space: 
S = {__________________}


2. Determine the expected value (i.e., the long run average). 

E(game) = (_______)(_______) + (_______)(_______) + (_______)(_______)


  = _____________

Which choice, A or B, is a better deal in the long run? __________________

If you did not put the first bill back before selecting the second bill, do you think the expected value would:


A)  go up

b)  go down

c)  not change

Now the game has changed… we do not put the first bill back before we draw the 2nd bill.  Which option will you choose now?
	A)  Take $15
	

	            or


	

	B)  Take 2 bills


	


TREE DIAGRAM – Make a tree diagram for the above situation.  Label the probabilities on all branches.  

1st Bill:
P ($ 1) = _____   P ($ 20) = _____

2nd Bill:

If the first bill was a $1, then 

P ($ 1) = _____   P ($ 20) = _____

If the first bill was a $20, then 

P ($ 1) = _____   P ($ 20) = _____

Write the dollar totals at the end of each path.  Multiply to find the probability of each path.  
Sample space, S = {___________________}

	P ($____) = 
	P ($____) = 
	P ($____) = 



Does the 1st bill have any effect on the outcome of the 2nd bill? ______________

Since the 1st bill _______________ the 2nd bill, they are called ______________________ events, that is, the outcome of one event affects the outcome of a second event.    

EXPECTED VALUE – Compute the expected value.

E(game) = (________)(________) + (________)(________) + (________)(________)


  = _____________  

Which option is the better deal in the long run?   A   or   B

Did the expected value change from the original problem?    YES     or      NO
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Probability Practice:  Independent & Dependent
	Independent:  If two events, A and B, are independent, then the probability of both events occurring is 
P(A and B) = P(A) ● P(B).

	Dependent:  If two events, A and B, are dependent, then the probability of both events occurring is 
P(A and B) = P(A) ● P(B following A).


Determine whether the events are independent or dependent.  Then find the probability.  An area diagram or tree diagram might help you solve some of these, but they are not required to draw.

1. A bowl contains 4 peaches and 5 apricots.  Alondra randomly selects one, puts it back, and then randomly selects another.  What is the probability that both selections were apricots?

2. A coin is tossed 2 times.  What is the probability that the heads will come up each time?

3. The host of a game show is drawing chips from a bag to determine the prizes for which contestants will play.  Of the 10 chips in the bag, 6 show “television,” 3 show “vacation,” and 1 shows “car.”  If the host draw the chips at random and does not replace them, find the probability for:

a. A vacation, then a car



b.  two televisions
4. There are 3 miniature chocolate bars and 5 peanut butter cups in a candy dish.  Nellie chooses 2 of them at random.  What is the probability that she chooses 2 miniature chocolate bars?

5. Joe’s wallet contains three $1 bills, four $5 bills, and two $10 bills.  If he selects two bills in succession, find the probability of selecting a $10 bill and then a $5 bill if the bills are not replaced.

6. A black die and a white die are rolled.  What is the probability that 3 shows on the black die and a 5 shows on the white die?  

7. Derrick has 7 blue pens, 3 black pens, and 2 red pens in his desk drawer.  If he selects 3 pens at random with no replacement, what is the probability that he will first select a blue pen, then a black pen, and then another blue pen?

Log & Rational Root Theorem Review
Show all work and reasoning.  Use a pencil and highlight your answers.

	1.  Evaluate the following.  

	a)  
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	2.  Solve for the variable.  Approximate your answers to nearest hundredths.  

	a)  
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	3.  Given 
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	a)  List all the possible rational zeros.
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b)  Determine all zeros:  x = _____________


	c)  Sketch a graph of 
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.  Label all intercepts.
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DEPENDENCE





If A and B are _____________________ events, 


then P(A and B) = _______ ( _____________________.  That is, we multiply the probabilities.
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